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QUESTION 1

In the exhibit, VM1 is part of the same VXLAN segment as VM3. 

Which type of message will R1 initially send to R2 so that VM1 receives BUM traffic from VM3? 

A. PIM Join 

B. PIM Register message 

C. IGMP Join (S, G) 

D. IGMP Join (*.G) 

Correct Answer: A 

 

QUESTION 2

Which EVPN router type prevents BUM traffic from looping back to a multihued host? 

A. Ethernet segment router 

B. IP prefix route 

C. Ether auto discovery route 

D. Inclusive multicast-Ethernet tag route 

Correct Answer: C 

 

QUESTION 3

When considering VRF routing-instances for network segmentation, which two statements are true? (Choose two.) 
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A. A logical interface can participate in multiple VRFs. 

B. Multiple VRFs on a single device consolidate routing information to a single table. 

C. VRFs have independent routing tables. 

D. VRFs support overlapping subnets. 

Correct Answer: CD 

 

 

QUESTION 4

Which protocol is used between VCF member devices to create a loop-free topology? 

A. LLDP 

B. MDTP 

C. RSTP 

D. VCCP 

Correct Answer: D 

 

QUESTION 5

You want to enable an EBGP-based IP fabric to allow ECMP routes to be populated into the RIB. In this scenario, which
action will accomplish this task? 

A. Enable the forwarding-options ecmp-do-local-lookup parameter. 

B. Enable the multipath multiple-as BGP parameter. 

C. Enable the routing-options multipath global parameter. 

D. Enable the chassis ecmp-alb parameter. 

Correct Answer: B 
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